## CANDIDATE ADVERTISEMENT AGREEMENT FORM

See Order for proposed schedule and charges	. See Invoice for actual schedule and charges.
AxMedia	, hereby request station time as follows:
IDENTIFY CANDIDATE TYPE   FED  ✓ STA	TE OR LOCAL CANDIDATE  KS MUST BE COMPLETED
Candidate name:	
Wendy Horman	
Authorized committee:  Committee to Elect Wendy Horman	
Agency requesting time (and contact information):  N/A AxMedia	
Candidate's political party: Republican	
Office sought (no acronyms or abbreviations): Idaho House of Representatives District 32	
Date of election: May 21, 2024	General Primary
Treasurer of candidate's authorized committee: Tim Anderson	
The undersigned represents that:  (1) the payment for the broadcast time requested has been the candidate listed above who is a legally qualified of the authorized committee of the legally qualified car.  (2) this station is authorized to announce the time as paid form (3) this station has disclosed its political advertising policies, and other sales practices (not applicable to federal candidate).  THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISTRIBUTION THE PLACEMENT OF ADVERTISING.	candidate, or ndidate listed above; r by such person or entity; and including applicable classes and rates, discount, promotion
Candidate/Committee/Agency	Station Representative
Signature: ApMedia Buyer	Signature: Level Malker  Name: Keth Walker
Name: AxMedia Buyer	Name: Keith Walker
Date of Request to Purchase Ad Time: 4/29/2024	Date of Station Agreement to Sell Time:

Federal Candidate Certification:  The undersigned hereby certifies that the broadcast matter to be aired pursuant to this disclosure either (1) does not refer to an opposing candidate or, if it does, (2) contains a clearly identifiable photograph or similar image of the candidate for a duration of at least four seconds and a simultaneously displayed printed statement identifying the candidate, that the candidate approved the broadcast and that the candidate and/or the candidate's authorized committee paid for the broadcast or if radio programming, contains a personal audio statement by the candidate that identifies the candidate, the office being sought and that the candidate has approved the broadcast.												
Candidate/Authorized Committee/A	Agency											
Signature:												
Name:												
Date:												
TO BE COMPLETED BY STATION ONLY  Ad submitted to Station?  Yes  No Date ad received:  Note: Must have separate PB-19 Forms for each version of the ad (i.e., for every ad with differing copy).												
Federal candidate certification signed (above):  Yes  No  N/A												
Disposition:  Accepted  Accepted IN PART (e.g., ad copy not yet received to determine sponsor ID)*  Rejected – provide reason:  *Upload partially accepted form, then promptly upload updated final form when complete.  Date and nature of follow-ups, if any (e.g., insufficient sponsor ID tag):												
Contract #:	Station Call Letters:	Date Received/Requested:										
Est. #:	Station Location:  1 DAHO FAUS	9/19/24  Run Start and End Dated:  5/1 - 5/11/2024										
use this space to document schedule of t purchased or attach separately. If station	will not upload the actual times spots aire	, the rates charged and the classes of time										

Date: 4/29/24

## **Sales Order**

Sta	ition:	KSNA	-FN	1								Agency		(atz N	/ledia	Group				
Co	ntract Na		Est 687					Agency: Katz Media Group  Address: 125 West 55th Street 3rd Floor												
	ntract#:							0'' N N N							40040					
Sta	rt Date:				End Date							Phone:				):	10019			
Adv	ertiser:	e toFlect	Wendy	Horn	nen	ypc		Duyer.												
															(None)					
Λu.												Agency				50				
					State:							Billing C	ycle: S	tanda	ard					
			Pri	mary								Salespe	rson: 1	414kı	wal		Со	omm %: 0		
Esti	mate #:	6874										Salespe					Cor			
Cor	npetitive	Code: Po	litic	al							. 1	Makego	od Polic	y: Wi	thin C		Dates			
No		TES	Alt	TIN	1ES	LEN				DI	STR	IBUTION			T	-	TOTALS			
1	START 5/01/24	END	wks	START	END		M	T	W	Т	F	SA SU	Per Wk	D/W	RATE	SPOTS	\$\$	PT	Y	
2	5/01/24	5/03/24		6:00 AM 10:00 AM	10:00 AM 3:00 PM	30			3	3	2		8	D	10.00	8	80.00			
3	5/01/24	5/03/24		3:00 PM	7:00 PM	30			3	3	3		8	D	10.00	8	80.00	-		
		CA ST oot Prices	N 2	lay 24 40.00 40.00									TAL SF		Ф				24 240.00	
												ADJUSTED SPOTS							24	
												AD	JUSTE	D TOT					240.00	
												API	PROVE	DEC		Traffic Sales Ma	anager			
				20.5555555													ales Manager			

Date: 4/29/24

## Sales Order

Sta	tion:	KSNA	-FN	1								Agenc	y:	k	(atz N	Media	Group			
Coi	Contract Name: Wendy Horman Est 6875 KSNA																			
	Contract#: (none)												City: New York State: NYZip:							10010
Sta	rt Date:																			10019
Rev	enue Ty	pe: Natio	onal	Agency			Т	vpe	: (	Cas							• • • • • • • • • • • • • • • • • • • •			
Adv	Revenue Type: National Agency Type: Cash Advertiser: Committee toElect Wendy Horman													dulo:						/N.I
																				(None)
City	Address: City: State: Zip:															%: 13.	50			
														cle: S						
				mary															omm %: 0	
	mate #:										. ;	Salesp	ers	son: 14	414K	KATZ		Com	nm %:	14
Con	npetitive	Code: Po	olitic	cal							. 1	Makeg	00	d Polic	y: Wi	thin C	ontract	Dates		
No		TES	Alt		MES	LEN		DIST				IBUTIO				RATE		TOTALS	DT	· ·
1	START 5/06/24	5/10/24	wks	START 6:00 AM	10:00 AM	30	M	T	W	T	_	SA S	U	Per Wk	-		SPOTS		PT	Y
2	5/06/24	5/10/24	-	10:00 AM	3:00 PM	30	2	2	2	2	2		+	10	D	10.00	10	100.00		
3	5/06/24	5/10/24		3:00 PM	7:00 PM	30	2	2	2	2	2		+	10	D	10.00	10	100.00		
Billir	ng Project	ions: By M CA ST	N 3	1ay 24 800.00																
V	Print Sp	ot Prices										Т	ОТ	AL SP	OTS					30
																				300.00
																				30
										ADJUSTED SPOTS ADJUSTED TOTAL \$ 30							300.00			
												, ,		0012	5 10	ΛΕ Ψ				500.00
												А	PP	ROVE	DE	CLINE				
													$\supset$				Traffic			
													$\supset$				Sales Ma	anager		
																	Credit			
													$\supset$				Local Sa	ales Manager		

Date: 4/29/24

## **Sales Order**

Sta	Station: KSNA-FM													ŀ	<atz th=""  <=""><th>Media</th><th>Group</th><th></th><th></th><th></th></atz>	Media	Group				
Co	Contract Name: Wendy Horman Est 6876 KSNA													Address: 125 West 55th Street 3rd Floor							
	ntract#:							City: New York State: NYZip:							40040						
Sta	rt Date:													tate: IN Y Zip		10019					
	Start Date: 5/13/24 End Date: 5/21/24																				
	Revenue Type: National Agency Type: Cash																				
	Advertiser: Committee toElect Wendy Horman													edule:					(1	Vone)	
Add	ress:							Ager	псу (	Commi	ssion	%: 13.	50								
City	': 		State:	Zip:				Billin	a Cv	/cle: S	stand	ard									
	mate #:	0070																	mm %: 0		
											. ;	Sales	sper	son: 1	414k	KATZ		Con	nm %:	14	
Con	npetitive	Code: Po	olitic	cal								Make	egoc	d Polic	y: W	ithin C	ontract	Dates			
No		TES	Alt	TIN	1ES	LEN				DI	STR	IBUTI	ON			DATE	Т	OTALS			
	START	END	wks	START	END	LLIV	М	Т	W	Т	F	SA	SU	Per Wk	D/W	RATE	SPOTS		PTY		
1	5/13/24	5/17/24		6:00 AM	10:00 AM	30	2	2	2	2	2			10	D	10.00	10	100.00			
2	5/13/24	5/17/24		10:00 AM	3:00 PM	30	2	2	2	2	2			10	D	10.00	10	100.00			
3	5/13/24	5/17/24		3:00 PM	7:00 PM	30	2	2	2	2	2			10	D	10.00	10	100.00			
4	5/20/24	5/21/24		6:00 AM	10:00 AM	30	2	2						4	D	10.00	4	40.00			
5	5/20/24	5/21/24		10:00 AM	3:00 PM	30	2	2						4	D	10.00	4	40.00			
6	5/20/24	5/21/24		3:00 PM	7:00 PM	30	2							2	D	10.00	2	20.00			
,		ons: By M  CA  ST  ot Prices	N 4	1ay 24 100.00 100.00									TO:	FAL OF	0.70						
	i iiii op	ot Files												TAL SP						40	
													GR	OSS TO	OTAL	\$			40	00.00	
													ADJ	IUSTE	D SP	OTS				40	
									ADJUSTED TOTAL \$ 400.0												
													APF	ROVE	DE	CLINE					
																	Traffic				
																	Sales Ma	nager			
												(					Credit				
												(						es Manager			